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Divertimento - 3. Diminuendo (2nd violin)
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Divertimento - 3. Diminuendo (2nd violin)
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6 Divertimento - 3. Diminuendo (2nd violin)

VAR. X sul ponticello e con sordino, senza rigore del suono, sul RE,
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In this variation each group of violins is to divide in soloists; each entry should be executed by
(only one) another player, the order of playing in each group
should NOT match the order of playing in other groups.
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Divertimento - 3. Diminuendo (2nd violin)
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Divertimento - 3. Diminuendo (2nd violin)
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Divertimento - 3. Diminuendo (2nd violin)
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Divertimento - 3. Diminuendo (2nd violin)
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Divertimento - 3. Diminuendo (2nd violin) 11
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